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Bk K JK Kk JK EVIN
SF3F9IH6H SF4F2H 140
(0PI Hh;i Z}i( E&%O?)IEHH I3 FEY) SFFEIH15H SF4AE2H 2R
SFIFEBH4A SFAE2H2A
H 1 TUFEUCROEDOLE W | mgl 0.002 7 0.002 4 0.002 7 0.002if
H 2 75 Kk ONEONES W | myl 0.0002i 0.00021i 0.00021i 0.00021i
H 3 v Hr L kOB EDOWAE W | myl 0.001 7 0.001 ¥ 0.001 57 0.001i%
H 4] I 5
H 5 1,2 — ¥ 7 oo = % v | mgl 0.0004i 0.0004i 0.0004i 0.0004i
B e[ I S
S B
H 8 K v - > | mg/lL 0.044if 0.047i 0.047i 0.0477
H 9| O 7Ly (2—=F r~F L) | mgll 0.00841if5 0.0084 15 0.0084 15 0.008 4 i
H 10 [l i} # f% | mg/L falaialed 0.06K355 falialed 0.0635
H 11 Hil 53
12 = 173 b H ES
Hi3lOvY z7ueuw7hbr="FrU /| mgL ek 0.001 i ek 0.001 i
Bu4lO#m Xk 2 wm 5 — | mglL falaialed 0.002 ¥ falialed 0.002if
H15| & K 3 B BEE SR
H 16| O 7% = i) # | mgL ok 0.8 Hkkx 1.0
| P ﬁfﬁ;é FYTAE | oL 29 27 36 36
H 18 ~ AR OZEONAE Y | moL 0.004 0.001 A 0.005 0.001 i
H19 iz i3 74 i | mg/L 49 6.0 2.0 25
H 20 LLl— kY Zmnme=xX | myl 0.03A:4i 0.03A:7 0.03A:7 0.03A4
H 21 AFN—t—FF L=z —F, | mglL 0.002¥ii 0.002 i 0.002 i 0.002 i
H 22 zﬁ@wﬁfg@w ;%A . ;%5 mg/L 23 0.9 1.9 1.0
H23] R & # Z (T O N ) [ mglL WERED kit % F
H 24 g % 7% Eé? ¥ | mg/L 67 69 66 65
H 25 ] & | mg/L 0.5 0.1 0.5 0.1
H26| pH fl | e 7.0 7.0 7.5 7.3
H27| RN (T2 7 U T HE %K) [ e 21 Hkkx -18
Ha2g| #& B % & M B |E&mL 240 2 120 0
A2l 11— v swenm=zF v | mL 0.014if5 0.014if5 0.014if5 0.015K%
H30| 7nri=vaskorzoftéa® | myL 0.014if5 0.02 0.01K:4 0.02
H3l|/®@P F OS Kk " PF O A | mglL 0.000007 0.0000055F;i5 0.000006 0.000006

53




7 N 2 N B F % K %
Bk K JK Kk JK EVIN
SF3F9IH6H SF4F2H 140
(0PI Hh;i Z}i( E&%O?)IEHH I3 FEY) SFFEIH15H SF4AE2H 2R
SFIFEBH4A SFAE2H2A
H 1 TUFEUCROEDOLE W | mgl 0.002 7 0.002 4 0.002 7 0.002if
H 2 75 Kk ONEONES W | myl 0.0002i 0.00021i 0.00021i 0.00021i
H 3 v Hr L kOB EDOWAE W | myl 0.001 7 0.001 ¥ 0.001 57 0.001i%
B o4 #l S
H 5 1,2 — ¥ 7 oo = % v | mgl 0.0004i 0.0004i 0.0004i 0.0004i
B e[ I 73
S 73
H 8 K v - > | mg/lL 0.044if 0.047i 0.047i 0.0477
H 9| O 7Ly (2—=F r~F L) | mgll 0.00841if5 0.0084 15 0.0084 15 0.008 4 i
H 10 [l i} # f% | mg/L falaialed 0.06K355 falialed 0.0635
H 11 Hil 53
12 = 173 b H ES
Hi3lOvY z7ueuw7hbr="FrU /| mgL ek 0.001 i ek 0.001 i
Bu4lO#m Xk 2 wm 5 — | mglL falaialed 0.002 ¥ falialed 0.002if
H15| & K 3 B BEE SR
H 16| O 7% = i) # | mgL il 0.7 Hkkx 1.0
| P ﬁfﬁ;é FYTRE | nal 33 29 37 35
H 18 ~ AR OZEONAE Y | moL 0.006 0.001 A 0.004 0.001 i
H19 iz i3 74 i | mg/L 3.4 5.3 2.0 2.4
H 20 LLl— kY Zmnme=xX | myl 0.03A:4i 0.03A:7 0.03A:7 0.03A4
H 21 AFN—t—FF L=z —F, | mglL 0.002¥ii 0.002 i 0.002 i 0.002 i
H 22 zﬁ@wﬁfg@w ;%A . ;%5 mg/L 28 0.9 2.1 11
H23] R & # Z (T O N ) [ mglL WERED kit % F
H 24 g % 7% Eé? ¥ | mg/L 70 67 64 67
H 25 ] & | mg/L 0.9 0.1 0.6 0.1
H26| pH fl | e 7.3 7.0 7.6 7.2
H27| RN (T2 7 U T HE %K) [ e 2.0 Hkkx 20
Ha2g| #& B % & M B |E&mL 250 11 370 0
A2l 11— v swenm=zF v | mL 0.014if5 0.014if5 0.014if5 0.015K%
H30| 7nri=vaskorzoftéa® | myL 0.65 0.02 0.01K:4 0.02
H3l|/®@P F OS Kk " PF O A | mglL 0.000006 0.0000055F;i5 0.000006 0.000006
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SFIFEBHAIA SFAE2H2A
H 1 TUFEUCROEDOLE W | mgl 0.002 7 0.002 4 0.002 7 0.002if
H 2 75 Kk ONEONES W | myl 0.0002i 0.00021i 0.00021i 0.00021i
H 3 v Hr L kOB EDOWAE W | myl 0.001 7 0.001 ¥ 0.001 57 0.001i%
B o4 #l S
H 5 1,2 — ¥ 7 oo = % v | mgl 0.0004i 0.0004i 0.0004i 0.0004i
B e[ I 73
S 73
H 8 K v - > | mg/lL 0.044if 0.047i 0.047i 0.0477
H 9| O 7Ly (2—=F r~F L) | mgll 0.00841if5 0.0084 15 0.0084 15 0.008 4 i
H 10 [l i} # f% | mg/L falaialed 0.06K355 falialed 0.0635
H 11 Hil 53
12 = 173 b H ES
Hi3lOvY z7ueuw7hbr="FrU /| mgL ek 0.001 i ek 0.001 i
Bu4lO#m Xk 2 wm 5 — | mglL ek 0.002 Fokkk 0.002 i
H15| & K 3 B BEE SR
H 16| O 7% = i) # | mgL il 0.7 Hkkx 0.9
Rl P ﬁfﬁ;é FYTRE | nal 35 36 37 37
H 18 ~ AR OZEONAE Y | moL 0.007 0.001 A 0.005 0.001 i
H19 iz i3 74 g | mg/L 2,07 2.0 2.0 2.2
H 20 LLl— kY Zmnme=xX | myl 0.03A:4i 0.03A:7 0.03A:7 0.03A4
H 21 AFN—t—FF L=z —F, | mglL 0.002¥ii 0.002 i 0.002 i 0.002 i
H 22 ﬁ@wﬁfg@w ;%A " %5 mg/L 31 1.0 2.3 1.0
H23] R & # Z (T O N ) [ mglL WERED kit % F
H 24 g % 7% Eé? ¥ | mg/L 70 75 66 69
H 25 ] & | mg/L 1.2 0.1 1.1 0.1
H26| pH fl | e 8.0 75 7.6 7.4
B 27 R (777 M) [ i -1.4 il -17
Ha2g| #& B % & M B |E&mL 830 2 260 0
A2l 11— v swenm=zF v | mL 0.014if5 0.014if5 0.014if5 0.015K%
H30| 7nri=vaskorzoftéa® | myL 0.02 0.07 0.01K:4 0.02
H3l|/®@P F OS Kk " PF O A | mglL 0.000005 5 0.000005 4 0.000006 0.000006
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(0PI Hh;i Z;QEQ%‘?)IEHH I3 FEY) SHETHI2A SFAFELHLLA
SFIFEBH2A SFAFE2H LA
H 1 TUFEUCROEDOLE W | mgl 0.002 7 0.002 4 0.002 7 0.002if
H 2 75 Kk ONEONES W | myl 0.0002i 0.00021i 0.00021i 0.00021i
H3 =y’ A kO0Zzofts | mil 0.002 0.0015 1% 0.001A 15 0.001 A7t
B o4 #l S
H 5 1,2 — ¥ 7 oo = % v | mgl 0.0004i 0.0004i 0.0004i 0.0004i
B e[ I 73
S 73
H 8 K v - > | mg/lL 0.044if 0.047i 0.047i 0.0477
H 9| O 7Ly (2—=F r~F L) | mgll 0.00841if5 0.0084 15 0.0084 15 0.008 4 i
H 10 [l i} # f% | mg/L falaialed 0.06K355 falialed 0.0635
H 11 Hil 53
12 = 173 b H ES
Hi3lOvY z7ueuw7hbr="FrU /| mgL ek 0.001 i ek 0.001 i
Bu4lO#m Xk 2 wm 5 — | mglL falaialed 0.002 ¥ falialed 0.002if
H15| & K 3 B BEE SR
H 16| O 7% = i) # | mgL il 0.8 Hkkx 1.0
| P ﬁfﬁ;é FYTAE | oL 34 34 38 38
H 18 ~ AR OZEONAE Y | moL 0.039 0.001 A 0.013 0.001 i
H19 iz i3 74 g | mg/L 2,07 2.8 2.0 33
H 20 LLl— kY Zmnme=xX | myl 0.03A:4i 0.03A:7 0.03A:7 0.03A4
H 21 AFN—t—FF L=z —F, | mglL 0.002¥ii 0.002 i 0.002 i 0.002 i
H 22 zﬁi@vwﬁ%@gw ;%A " %5 mg/L 4.8 1.2 3.1 1.2
H23] R & # Z (T O N ) [ mglL WERED kit % F
H24] 7 JE V33 H ¥ | mglL 76 74 74 71
H 25 ] & | mg/L 9.8 0.1 6.3 0.1
H26| pH fl | e 7.7 7.3 7.6 7.3
H27| RN (T2 7 U T HE %K) [ e 17 Hkkx -18
Ha2g| #& B % & M B |E&mL 2300 0 1200 0
A2l 11— v swenm=zF v | mL 0.014if5 0.014if5 0.014if5 0.015K%
H30] 7AI=wAROCZEONEY | mylL 0.25 0.05 0.04 0.01
H3l|/®@P F OS Kk " PF O A | mglL 0.000005 4 0.000006 0.000006 0.0000055#5
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SF3FETHSA SAFLALTA
(0PI Hh;i Z;QEQ%‘?)IEHH I3 FEY) SHETHI2A SFAFELHLLA
SFIFEBH2A SFAFE2H LA
H 1 TUFEUCROEDOLE W | mgl 0.002 7 0.002 4 0.002 7 0.002if
H 2 75 Kk ONEONES W | myl 0.0002i 0.00021i 0.00021i 0.00021i
H3 =y’ A kO0Zzofts | mil 0.001 0.0015 1% 0.001A 15 0.001 A7t
B o4 #l S
H 5 1,2 — ¥ 7 oo = % v | mgl 0.0004i 0.0004i 0.0004i 0.0004i
B e[ I S
S B
H 8 K v - > | mg/lL 0.044if 0.047i 0.047i 0.0477
H 9| O 7Ly (2—=F r~F L) | mgll 0.00841if5 0.0084 15 0.0084 15 0.008 4 i
H 10 [l i} # f% | mg/L falaialed 0.06K355 falialed 0.0635
H 11 Hil 53
12 = 173 b H ES
Hi3lOvY z7ueuw7hbr="FrU /| mgL ek 0.001 i ek 0.001 i
Bu4lO#m Xk 2 wm 5 — | mglL falaialed 0.002 ¥ falialed 0.002if
H15| & K 3 B BEE SR
H 16| O 7% = i) # | mgL ok 0.8 Hkkx 1.0
| P ﬁfﬁ;é FYTRE | nal 33 35 38 39
H 18 ~ AR OZEONAE Y | moL 0.032 0.001 A 0.009 0.001 i
H19 iz i3 74 g | mg/L 2,07 25 2.0 2.3
H 20 LLl— kY Zmnme=xX | myl 0.03A:4i 0.03A:7 0.03A:7 0.03A4
H 21 AFN—t—FF L=z —F, | mglL 0.002¥ii 0.002 i 0.002 i 0.002 i
H 22 zﬁ@wﬁfg@w ;%A . ;%5 mg/L 40 13 32 11
H23] R & # Z (T O N ) [ mglL WERED kit % F
H 24 g % 7% Eé? ¥ | mg/L 74 75 74 71
H25 i B | mglL 4.1 0. 144 4.4 0. 14115
H26| pH fl | e 8.3 7.3 7.6 7.3
H27| RN (T2 7 U T HE %K) [ e -16 Hkkx -18
Ha2g| #& B % & M B |E&mL 1300 2 1800 0
A2l 11— v swenm=zF v | mL 0.014if5 0.014if5 0.014if5 0.015K%
H30] 7AI=wAROCZEONEY | mylL 0.10 0.05 0.02 0.02
H3l|/®@P F OS Kk " PF O A | mglL 0.000005 5 0.000005 4 0.000006 0.0000055#5
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7 N (6) Brow o mH o oK 5
Bk # K JFK FRK JFK [EVI
SF3FETHSA SAFLALTA
(0PI Hh;i ﬁﬁ&%‘?ﬁﬁaﬁ I3 FEY) SHETHI2A SFAFELHLLA

SFIFEBH2A SFAFE2H LA

H 1 TrFEUVEOTZOMAEY | mgL 0.002£ i 0.0021i 0.0021ii 0.002£ i

H 2 75 Kk ONEONES W | myl 0.00024ifi 0.00024 i 0.00024ifi 0.00024ifi

H3 =y’ A kO0Zzofts | mil 0.001 0.0015 1% 0.001A 15 0.001 A7t

B o4 #l S

H 5 1,2 — ¥ 7 oo = % v | mgl 0.0004i 0.0004i 0.0004i 0.0004i

B e[ I 73

S 73

H 8 K v - > | mg/lL 0.044if 0.047i 0.047i 0.0477

H 9| O 7Ly (2—=F r~F L) | mgll 0.00841if5 0.0084 15 0.0084 15 0.008 4 i

H 10 [l i} # f% | mg/L falaialed 0.06K355 falialed 0.0635

H 11 Hil 53

12 = 173 b H ES

Hi3lOvY z7ueuw7hbr="FrU /| mgL ek 0.001 i ek 0.001 i

Bu4lO#m Xk 2 wm 5 — | mglL falaialed 0.002 ¥ falialed 0.002if

H15| & K 3 B BEE SR

H 16| O 7% = i) # | mgL il 0.7 Hkkx 1.0

Rl P ﬁfﬁﬁvé FYTRE | nal 34 36 38 38

H 18 ~ AR OZEONAE Y | moL 0.033 0.001 A 0.013 0.001 i

H19 iz i3 74 g | mg/L 2,07 21 2.0 2.6

H 20 LLl— kY Zmnme=xX | myl 0.03A:4i 0.03A:7 0.03A:7 0.03A4

H 21 AF )N —t—FF LT -5 | mglL 0.00241if5 0.0024 75 0.0024 75 0.002 A i

H 22 ﬁ@vyﬁiﬁému ;%A " %5 mg/L 4.1 11 3.3 1.0

H 23 RO M (T O N ) | mgL WABERED AR % N

H 24 g % 7% Eé? ¥ | mg/L 72 77 75 75

H25 i B | mglL 45 0. 144 6.3 0. 14115

H26| pH fl | e 8.3 75 7.6 7.3

H27| RN (T2 7 U T HE %K) [ el -15 ool -18

Ha2g| #& B % & M B |E&mL 940 0 1400 0

A2l 11— v swenm=zF v | mL 0.014if5 0.014if5 0.014if5 0.015K%

H30] 7AI=wAROCZEONEY | mylL 0.11 0.04 0.03 0.015K: 1

H3l|/®@P F OS Kk " PF O A | mglL 0.000005 5 0.000005 4 0.000006 0.0000055#5

58




2/ N ) (N = # H L v =z Kk GBE D)
Bk # K 2 K
T H3ETH5H FIAELALTH
(ODIHE Hh;i Z}i( E&%O?)IEHH RN FRI3FETH12H BFI4ELA 12R
FI3LE8 I3 H TAI4EE2 2R
H 1 TUFEUCROEDOLE W | mgl 0.002 4 0.002if%
H 2 7S5k W™EOL A W | mgl 0.00024it 0.0002A 4
H 3 v Hr L kOB EDOWAE W | myl 0.001 ¥ 0.001i%
B o4 #l S
H 5 1,2 — ¥ 7 oo = % v | mgl 0.0004i 0.0004i
B e[ I 73
S 73
H 8 K v - > | mg/lL 0.044i 0.047
H 9O 721y (2—=F~Fv) [ mgl 0.008 i 0.008 i
H 10 ifi = # iz [ mg/L 0.0641i 0.0647i
H 11 Hl 53
12 = 173 b H ES
H3lOY 7uvuw7bh=FU/ | mgL 0.001 0.001 i
14O Xx 2 w 5 — | mglL 0.003 0.002 i
H15| & K 3 B BEE SR
H 16| O %% H iy # | mg/lL 0.6 1.1
A 17 ﬁ’bc/&fﬁﬁ?é*yﬁA% mg/L 36 2
H18] ~v v kO Zofk&® | mol 0.001 A1 0.001 477
H19 E i3 74 i | mg/L 32 48
H 20 LLl— kY Zmnme=xX | myl 0.03A7 0.03A7
H 21 AFN—t—TFrxz—F1 | mgl 0.0025K 1 0.002: i
H 22 zﬁiﬁv‘/ﬁféﬁﬁéwu;@A ”é]%; mg/L 15 13
H 23 RO M (T O N ) | mgL WABERED AR A A N
H 24 g % 7% = ¥ | mg/L 76 79
H25| & E | mglL 0.14:1#5 0.147i5
H26| pH fl | *x 7.3 7.2
H27| RN (T2 7 U T HE %K) [ -1.7 -1.9
Ha2g| #& B % & M B |E&mL 8 3
H 29 11— Y27 F L | mgl 0.015ik 0.017iki
H30| 7nri=vaskorzoftéa® | myL 0.04 0.01
H3l|/@P F OS Kk " PF O A | mglL 0.000005 4 0.000005
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